
Lösungen	
  zu	
  den	
  Übungsaufgaben	
  in	
  VideoC8-­‐02:	
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Redox:	
   4Na	
  +	
  O2	
   →	
   4Na+	
  +	
  2O2-­‐	
  	
   	
   bzw.	
  	
  	
  →	
  2	
  Na2O	
  
	
  
?	
  →	
  NaN3	
  	
  
	
  
Ox:	
  	
   Na	
   →	
   Na+	
  +	
  e-­‐	
  	
  /	
  .	
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Red:	
   N2	
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Redox:	
   6Na	
  +	
  N2	
   →	
   6Na+	
  +	
  2N3-­‐	
  	
   	
   bzw.	
  	
  	
  →	
  2	
  Na3N	
  
	
  
K	
  +	
  F2	
  →	
  ?	
  
	
  
Ox:	
  	
   K	
   →	
   K+	
  +	
  e-­‐	
  	
   /	
  .	
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Red:	
   F2	
  +	
  2e-­‐	
   →	
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Redox:	
   2K	
  +	
  F2	
   →	
   2K+	
  +	
  2F-­‐	
  	
   	
   bzw.	
  	
  	
  →	
  2	
  KF	
  
	
  
Ca	
  +	
  P	
  →	
  ?	
  
	
  
Ox:	
  	
   Ca	
   →	
   Ca2+	
  +	
  2e-­‐	
  	
   /	
  .	
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Red:	
   P	
  +	
  3e-­‐	
   →	
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Redox:	
   3Ca	
  +	
  2P	
   →	
   3Ca2+	
  +	
  2P3-­‐	
  	
   	
   bzw.	
  	
  	
  →	
  Ca3P2	
  	
  
	
  
	
  


